		BID RESULTS				
		AB2013-58 INMATE CLOTHING FOR THE MERC	ER COUNTY CORRECTION CENTER			
		JANUARY 7, 20	14			
AWARD TWO YEARS, MUST MEET FABRIC CONTENT; SHALL PROVIDE TWO WEEK DELIVERY FROM RECEIPT OF PURCHASE ORDER; PARTIAL AWARD OF BID	FORWARD INSURANCE REQUIREMENTS TO ALL LOW BIDDERS WITH FIVE DAY TURN AROUND					
NUMBER OF BIDDERS	16					
NAME OF BIDDER	O.D. TARAGIN & BROS., LLC	TABB TEXTILES CO., INC.	ATD-AMERICAN CO.	ROBINSON TEXTILES	MTJ AMERICAN LLC	
ADDRESS	1400 ALICEANNA STREET	511 PLEASANT DRIVE	135 GREENWOOD AVENUE	152 W. WALNUT STREET, SUITE 250	4276 HELENA STREET, PO BOX 826	
CITY, STATE, ZIP	BALTIMORE, MD 21209	OPELIKA, AL 36801	WYNCOTE, PA 19095-1396	GARDENA, CA 90248	GRANITE FALLS, NC 28630	
CONTACT	YEUGENIY DATSENRO	ALAN FENSTER	JONATHAN ZASLOW	JENNIFER L. KUTSCH	RICK A. DETTER	
TELEPHONE	410 276 7570	334 745 6762	215 576 1000	800 421 5582	828 396 1537 EXT 318	
FAX	410 276 1414	334 745 2377	215 576 1827	800 370 7019	828 313 0612	
WEBSITE OR E-MAIL	ODTAR@GMAIL.COM	TABB@TEXTILEGROUP.NET	AMERICAN@ATD.COM	ROBTEXEMAIL@AOL.COM	SALES@MTJAMERICAN.COM	
HOLD PRICING BEYOND 60 DAYS	NO	YES	YES	YES	YES	
CONTINUITY OF OPERATION	NO	YES	YES	YES	YES	
BUSINESS REGISTRATION	OK	OK	OK	OK	ОК	
IRAN CERTIFICATION	OK	OK	OK	OK	OK	
INSURANCE REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	
EIC REQUIRED IF AWARDED	38162 EXPIRES 2/15/20	6811 EXPIRES 2/15/2014	3445 EXPIRES 10/15/16	7048 EXPIRES 3/15/2020	51644 EXPIRES 10/15/20	
EXHIBIT A	OK	OK	ОК	OK	ОК	
STOCKHOLDER DISCLOSURE	OK	OK	ОК	OK	ОК	
exceptions	T-SHIRTS ITEMS 30 - 34 AND COVERALLS ITEMS 35-42 AND WINTER COATS ITEM 47 ARE 30 DAY DELIVERY; CORRECTION CENTER MUST REVIEW	NO EXCEPTIONS	DOES NOT MEET SPEC FOR ITEMS 16, 21 AND 22; WE REQUIRE 50/50 AND THEY ARE BIDDING 100% COTTON; BIDDING FLAT SHEETS FOR NO. 18	NO EXCEPTIONS	NO EXCEPTIONS FORWARD MATTRESS SPECTO CORRECTION CENTER	

NO

NO

NO

NO

FATAL FLAW

NO

BID RESULTS

AB2013-58 INMATE CLOTHING FOR THE MERCER COUNTY CORRECTION CENTER

ACMINISTRATIVAS, METALENIC CONTENT, MANY C			AB2013-58 INMATE CLOTHING FOR THE MERCE JANUARY 7, 20			
PART	PROVIDE TWO WEEK DELIVERY FROM RECEIPT OF PURCHASE					
COMMAND SOCIEDAD SOCIEDAD ABBRILLY (120) ABBRILLY (120) SOCIEDAD ABBRILLY (120) SOCIEDAD ABBRILLY (120) SOCIEDAD ABBRILLY (120) SOCIEDAD ABBRILLY (120) ABBRILLY (120	NAME OF BIDDER	CHARM-TEX	THE LIBERTY STORE	THE THOMASTON CORP.	KAR WING TRADING CO., INC.	UNIFORMS MANUFACTURING INC.
COMPACT	ADDRESS	1618 CONEY ISLAND AVENUE	5 E GENESSEE STREET	71 PARTRIDGE LANE	1923 FRANK STILES ST.	PO BOX 12716
Table	CITY, STATE, ZIP	BROOKLYN, NY 11230	AUBURN, NY 13021	GHENT, NY 12075	SOUTH EL MONTE, CA 91733	SCOTTSDALE, AZ 85267-2716
ACCUPATION 1912-201900 1912-2012-2000 1912-2012-2000 1912-2012-2000 1912-2012-2000 1912-2012-2000 1912-2012-2000 1912-2012-2000 1912-2012-2000 1912-2012-2000 1912-2012-2000 1912-2000-2000 1912-2000-2000-2000 1912-2000-2000-2000-2000 1912-2000-2000-2000-2000-2000-2000-2000-	CONTACT	STAN DANZGER	MARTY GOLDMAN	NICOLE COREY	GEORGIANA W. LAI	EMILY PELLIGREEN
MINISTER OF EASE MINISTER COLLEGE AND ADDRESS MINISTER C	TELEPHONE	718 252 8100	315 252 1761	518 392 9096	800 538 8331 EXT. 11	480 368 9316
PROPRIEST BETODISC DE L'ADRES 1955 195	FAX	718 258 8303	315 282 2400	518 392 3089	626 350 0440	480 368 8556
CONTRIGUED FOR CONTRIGUED PROPERTY TOTAL CONTRIGUED PR	WEBSITE OR E-MAIL	STAN@CHARM-TEX.COM	MARTY@THELIBERTYSTORE.COM	THOMCO1@IX.NETCOM.COM	BUSINESS@KARWING.COM	EMILY@UMIDIRECT.COM
Deligible Color	HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	HOLD UP TO 90 DAYS
MISSERIAL RECOURS P AVAILABLE NEW ANAISSEE NE	CONTINUITY OF OPERATION	YES	YES	YES	YES	WILL NOT PROVIDE
MUNICHE FOUNDED FAMABORD	BUSINESS REGISTRATION	YES	ОК	OK	OK	OK
CAMPAINS CONTROL CON	IRAN CERTIFICATION	ОК	ОК	ОК	OK	ОК
MINISTER COX	INSURANCE REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
DOCUMENTS DOCU	EIC REQUIRED IF AWARDED	6795 EXPIRES 2/15/20	28249 EXPIRES 4/15/2014	38129 EXPIRED 2/15/2013	REQUIRED IF AWARDED	12455 EXPIRES 10/15/2013
NOME	EXHIBIT A	OK	ОК	OK	OK	ОК
ACEPTIONS	STOCKHOLDER DISCLOSURE	OK	ОК	OK	OK	ОК
NAME OF BIDDER	EXCEPTIONS	NONE	NONE	MEET SPEC; CLARIED COST FOR WOMEN'S CANVAS STEP IN AS THEY BID PER UNIT AND	NONE: FORWARD BOOT SPEC TO CORRECTION GENTER	14, 23,24,25,31,32,33,34,43,44,45 DOES NOT
ADDRESS 10 BALMER CRESCENT PO BOX 21056 6990 CAPICAL VEW CT. 146 SPUIT ROCK ROAD 134 N. MAIN STREET, PO BOX 429 CITY, STATE, ZIP NEWMARKET ONTARIO LEXISTP CANADA WACO, TEXAS 76702 J.OHNSTON, IA 50131 SYOSSET, NY 11791 FUQUAY VARNA, NC 27526 CONTACT CHUDDEY RAZA J.M BOGGAN III LACISHANA CAL KALWANI ROBERT GRUBMAN TINA C. SAWVEL TELEPHONE 647 28 7477 800 524 5427 515 707 1744 516 682 5775 800 334 9880 176 AVERAGE OF THE PROPERTY	FATAL FLAW	NO	NO	NO	NO	NO
CITY, STATE, ZIP NEWMARKET ONTARIO L3X3J9 CANADA WACO, TEXAS 76702 JOHNSTON, IA 50131 SYOSET, NY 11791 FUQUAY VARINA, NC 27526 CONTACT CHOUDRY RAZA JM BOGAN III LAKSHMAN CAL KALWANI ROBERT GRUBMAN INA C. SAWYEL TELEPHONE 647828 7497 800 524 5427 515 707 1744 516 682 5775 800 334 9880 FAX 988 20 2848 254 751 0299 515 331 9072 516 682 5717 800 322 7537 800	NAME OF BIDDER	UNIFORM ONE	ICS JAIL SUPPLIES	JUST IN TREND	GOALTEX CORP	BOB BARKER COMPANY INC.
CONTACT	ADDRESS	10 BALMER CRESCENT	PO BOX 21056	6900 CAPITOL VIEW CT.	146 SPLIT ROCK ROAD	134 N. MAIN STREET, PO BOX 429
ELEPHONE	CITY, STATE, ZIP	NEWMARKET ONTARIO L3X3J9 CANADA	WACO, TEXAS 76702	JOHNSTON, IA 50131	SYOSSET, NY 11791	FUQUAY VARINA, NC 27526
FAX 888 220 2848 254 751 0299 515 331 9072 516 682 5717 800 322 7537 WEBSITE OR E-MAIL QURAZABYAHOO COM BIDSBICSWACO COM CALWANIBAUSTINITIEND COM ROBERT GOOALTEX COM TINASAWYEL BROBBARKER COM CALWANIBAUSTINITIEND COM CALWANIBAUSTINITIEND COM ROBERT GOOALTEX COM TINASAWYEL BROBBARKER COM CALWANIBAUSTINITIEND COM CA	CONTACT	CHOUDRY RAZA	JM BOGAN III	LAKSHMAN CAL KALWANI	ROBERT GRUBMAN	TINA C. SAWVEL
WEBSITE OR E-MAIL GURAZABYAHOO.COM BUSBICSWACO.COM YES YES YES YES YES YES OK CONTINUITY OF OPERATION YES NO YES NO YES YES OK OK OK OK OK OK OK OK OK O	TELEPHONE	647 828 7497	800 524 5427	515 707 1744	516 682 5775	800 334 9880
HOLD PRICING BEYOND 60 DAYS YES YES YES OK CONTINUITY OF OPERATION YES NO YES YES OK OK OK OK OK OK OK OK OK INSURANCE REQUIRED IF AWARDED OK OK OK OK OK OK OK OK OK O	FAX	888 220 2848	254 751 0299	515 331 9072	516 682 5717	800 322 7537
CONTINUITY OF OPERATION YES NO YES YES OK BUSINESS REGISTRATION REQUIRED IF AWARDED OK OK OK OK OK OK OK OK OK O	WEBSITE OR E-MAIL	CURAZA@YAHOO.COM	BIDS@ICSWACO.COM	CKALWANI@JUSTINTREND.COM	ROBERT@GOALTEX.COM	TINASAWVEL@BOBBARKER.COM
BUSINESS RECISITRATION REQUIRED IF AWARDED OK OK OK OK OK OK OK OK OK O	HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	OK
IRAN CERTIFICATION OK INSURANCE REQUIRED IF AWARDED REQU	CONTINUITY OF OPERATION	YES	NO	YES	YES	OK
INSURANCE REQUIRED IF AWARDED	BUSINESS REGISTRATION	REQUIRED IF AWARDED	ОК	ОК	OK	OK
EIC REQUIRED IF AWARDED REQUIRED IF AWARDED A 6154 EXPIRES 12/15/18 REQUIRED IF AWARDED 31643 EXPIRES 12/15/15 6211 EXPIRES 12/15/15 621 EXPIRES 12/15/15	IRAN CERTIFICATION	ОК	ОК	ОК	OK	ОК
EXCEPTIONS OK	INSURANCE REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
STOCKHOLDER DISCLOSURE OK OK OK OK OK OK OK OK OK O	EIC REQUIRED IF AWARDED	REQUIRED IF AWARDED	46154 EXPIRES 2/15/18	REQUIRED IF AWARDED	31643 EXPIRES 12/15/15	6211 EXPIRES 12/15/15
COVERALLS HAVE WHITE THREAD; WASHCLOTHES ARE 12 X 12; CAN NOT DELIVER WHITHING 72 HOURS; COVERALLS AND JACKETS ARE 21 - 30 DAY DELIVERY ARO DELIVERY ARO BOXERS MADE WITH MOCK FLY OR BUTTON; COVERALLS MAY HAVE LONGER DELIVERY, NONE EXPEDITED CHARGES MAY APPLY FOR EMERGENCY DELIVERY; DOES NOT MEET SPE COVERALLS MAY HAVE LONGER DELIVERY, NONE 2, 14, 15, 16, 17, 18, 19, 21, 22, 23, 24, 25, 26, NITIAL STOCK BUILDUP MAY REQUIRE 6 - 9 WEEKS EXPEDITED CHARGES MAY APPLY FOR EMERGENCY DELIVERY; DOES NOT MEET SPE COVERALLS MAY HAVE LONGER DELIVERY, NONE 2, 14, 15, 16, 17, 18, 19, 21, 22, 23, 24, 25, 26, NITIAL STOCK BUILDUP MAY REQUIRE 6 - 9 WEEKS EXPEDITED CHARGES MAY APPLY FOR EMERGENCY DELIVERY; DOES NOT MEET SPE COVERALLS MAY HAVE LONGER DELIVERY, NONE 2, 14, 15, 16, 17, 18, 19, 21, 22, 23, 24, 25, 26, NITIAL STOCK BUILDUP MAY REQUIRE 6 - 9 WEEKS	EXHIBIT A	OK	ОК	OK	OK	OK
COVERALIS HAVE WHITE THERAD. MASHICOTHES ARE 21 2 12: CAN NOT DELIVERY AND OT DELIVERY AND JACKETS ARE 21 - 30 DAY DELIVERY AND DELIVERY AND DELIVERY AND JACKETS ARE 21 - 30 DAY DELIVERY AND DELIVERY	STOCKHOLDER DISCLOSURE	OK	ОК	ОК	OK	OK
FATAL FLAW NO NO NO NO NO NO	EXCEPTIONS	NONE	WASHCLOTHES ARE 12 X 12; CAN NOT DELIVER WITHING 72 HOURS; COVERALLS AND	COVERALLS MAY HAVE LONGER DELIVERY, INITIAL STOCK BUILDUP MAY REQUIRE 6 - 9	NONE	EMERGENCY DELIVERY; DOES NOT MEET SPEC 2, 14, 15,16,17,18,19,21,22,23,24,25,26, 27,28,30,43,44,45,47; COVERALLS HAVE 6 SNAPS CLARIFIED BLANKETS ARE \$5.00
	FATAL FLAW	NO	NO	NO	NO	NO

		BID RESULTS		
		AB2013-58 INMATE CLOTHING FOR THE MERCE	R COUNTY CORRECTION CENTER	
		JANUARY 7, 20	14	
AWARD TWO YEARS, MUST MEET FABRIC CONTENT; SHALL PROVIDE TWO WEEK DELIVERY FROM RECEIPT OF PURCHASE ORDER; PARTIAL AWARD OF BID	FORWARD INSURANCE REQUIREMENTS TO ALL LOW BIDDERS WITH FIVE DAY TURN AROUND			
NAME OF BIDDER	ACME SUPPLY CO., LTD.			
ADDRESS	10 CEDAR SWAMP RD., SUITE 7			
CITY, STATE, ZIP	GLEN COVE, NY 11542			
CONTACT	ZAHEER SHEIK			
TELEPHONE	800 567 8025			
FAX	800 567 8026			
WEBSITE OR E-MAIL	BN@ACMDSUPPLY.US			
HOLD PRICING BEYOND 60 DAYS	YES			
CONTINUITY OF OPERATION	YES			
BUSINESS REGISTRATION	OK			
IRAN CERTIFICATION	OK			
INSURANCE REQUIRED IF AWARDED	REQUIRED IF AWARDED			
EIC REQUIRED IF AWARDED	12903 EXPIRES 11/15/20			
EXHIBIT A	ОК			
STOCKHOLDER DISCLOSURE	ОК			
exceptions	NONE			
FATAL FLAW	NO			

ITEM NUMBER	INMATE CLOTHING DESCRIPTION	SIZE	TOTAL QUANTITY REQUIRED	UNIT OF MEASURE	OF IVIEASURE	EXTENDED COST	COST PER UNIT OF MEASURE	EXTENDED COST	COST PER UNIT	EXTENDED COST	FABRIC EXCEPTIONS	COST PER UNIT OF MEASURE	EXTENDED COS	OF IVIEASURE	EXTENDED COST	COST PER UNIT OF MEASURE
1	BOOTS	Sizes 6-16	1100	PAIR	OD TA	ARAGIN	TA	BB	ATD A	MERICAN		ROE	BINSON	M	IJ	CHA
		SIECS O 10	1100	171111												-
2	WHITE TUBE SOCKS	ONE SIZE	2500	DOZEN	\$5.15	\$12,875.00		\$0.00	\$4.52	\$11,300.00			\$0.00	D .	\$0.00	\$4.22
3	MEN'S ORANGE CANVAS STEP-IN	Size: 7-17	11540	PAIR	\$5.05	\$58,277.00		\$0.00	\$3.38	\$39,005.20			\$0.00	0	\$0.00	\$3.00
4	V-STRAP SHOWER THONGS	Size: S,M,L,XL	6000	DOZEN	\$14.00	\$84,000.00		\$0.00		\$0.00			\$0.00		\$0.00	\$6.18
	WOMEN'S ORANGE CANVAS STEP-IN															
5		Size: 6-10	75	DOZEN	\$60.00	\$4,500.00		\$0.00	\$43.48	\$3,261.00			\$0.00	0	\$0.00	\$36.00
6	MESH LAUNDRY BAGS 30" X 40"	White	600	EACH		NO BID		NO BID		NO BID			NO BIE		NO BID	
7	MESH LAUNDRY BAGS 30" X 40"	Blue	600	EACH		NO BID		NO BID		NO BID			NO BIE)	NO BID	
9	MESH LAUNDRY BAGS 30" X 40" MESH LAUNDRY BAGS 30" X 40"	Brown Red	600 600	EACH EACH		NO BID		NO BID		NO BID			NO BIE		NO BID	
10	MESH LAUNDRY BAGS 30" X 40"		600	FACH		NO BID		NO BID		NO BID			NO BIL		NO BID	
11	MESH LAUNDRY BAGS 30" X 40"	Purple Orange	600	EACH		NO BID		NO BID		NO BID			NO BIE		NO BID	
12	MESH LAUNDRY BAGS 30" X 40"	Yellow	600	FACH		NO BID		NO BID		NO BID			NO BIL		NO BID	
13	MESH LAUNDRY BAGS 30" X 40"	Green	600	EACH		NO BID		NO BID		NO BID			NO BIE	Ó	NO BID	
15	TOTAL FOR LAUNDRY BAGS	GICCII	000	LACIT		\$0.00		\$0.00		\$0.00		1	\$0.00	á l	\$0.00	
	TOTAL TOTAL BUILDING BAGG	1				φυ.00		ş0.00	 	\$0.00			\$0.00	1	\$0.00	
14	WHITE WOMEN'S BRA	Size 30-48	4400	EACH	\$2.00	\$8,800.00		\$0.00	\$1.72	\$7,568.00			\$0.00	o	\$0.00	\$1.64
		1			\$2.50		1			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					+1.00	1
15	WHITE WOMEN'S BRIEF	Size: 5-9	200	DOZEN	\$9.60	\$1,920.00		\$0.00	\$7.68				\$0.00	D	\$0.00	\$7.18
16	WHITE WOMEN'S BRIEF	Size: 10-16	100	DOZEN	\$11.00	\$1,100.00		\$0.00		\$0.00	YES		\$0.00		\$0.00	\$7.90
	TOTAL FOR ALL WOMEN'S BRIEFS				ļ	\$3,020.00	ļ	\$0.00		\$1,536.00			\$0.00	9	\$0.00	
17	MATRESSES 25"X75"X4'	25"X75"X4"	1500	EACH		\$0.00		\$0.00		\$0.00			\$0.00	\$33.25	\$49,875.00	\$31.18
	AUSTRA F. HIVANI										FLAT					1
18	SHEETS 54"X90"	54" X 90"	1050	DOZEN		\$0.00	\$21.75	\$22,837.50	\$25.88	\$27,174.00	FLAT		\$0.00	0	\$0.00	\$26.90
19	GREY BLANKETS 60"X80"	60" X 80"	150	DOZEN		\$0.00	\$52.00	\$7,800.00		\$0.00			\$0.00)	\$0.00	\$52.54
20	WHITE THERMAL BLANKET	60" X 90"	70	DOZEN		\$0.00	\$59.90	\$4,193.00	\$59.88	\$4,191.60			\$0.00	0	\$0.00	\$69.90
21	BATH TOWELS 20"X40"	20" X 40"	1000	DOZEN		\$0.00	\$8.40	\$8,400.00		\$0.00	YES		\$0.00	0	\$0.00	\$9.90
22	WHITE WASH TOWELS 10"X12"	10" X 12"	1900	DOZEN	1	\$0.00	\$1.88	\$3,572.00		\$0.00	YES		\$0.00	O .	\$0.00	\$1.90
23	MEN'S ORANGE BOXER SHORTS	LARGE-XL	1500	DOZEN	\$15.15	\$22,725.00		\$0.00	\$13.68	\$20,520.00			\$0.00)	\$0.00	\$16.90
24	MEN'S ORANGE BOXER SHORTS	2XLARGE-4XL	1570	DOZEN	\$18.50	\$29,045.00		\$0.00	\$16.48	\$25,873.60			\$0.00)	\$0.00	\$19.90
25	MEN'S ORANGE BOXER SHORTS	5XLARGE-7XL	90	DOZEN	\$25.00	\$2,250.00		\$0.00	\$20.48	\$1,843.20			\$0.00)	\$0.00	\$20.90
	TOTAL FOR ALL MEN'S BOXER SHORTS					\$54,020.00		\$0.00		\$48,236.80			\$0.00)	\$0.00	
26	ORANGE T-SHIRTS	LARGE-XL	1000	DOZEN	\$31.60	\$31,600.00		\$0.00		\$0.00			\$0.00	0	\$0.00	
27	ORANGE T-SHIRTS	2XLARGE-3XL	1300	DOZEN	\$48.00	\$62,400.00		\$0.00		\$0.00			\$0.00		\$0.00	
28	ORANGE T-SHIRTS	4XLARGE	300	DOZEN	\$48.00	\$14,400.00		\$0.00		\$0.00			\$0.00		\$0.00	
29	ORANGE T-SHIRTS	5XLARGE	50	DOZEN	\$48.00	\$2,400.00		\$0.00		\$0.00			\$0.00		\$0.00	
30	ORANGE T-SHIRTS	6XLARGE	25	DOZEN	\$58.00	\$1,450.00		\$0.00		\$0.00			\$0.00		\$0.00	
31 32	ORANGE T-SHIRTS ORANGE T-SHIRTS	7XLARGE 8XLARGE	25 15	DOZEN DOZEN	\$68.00 \$78.00	\$1,700.00 \$1.170.00		\$0.00	-	\$0.00 \$0.00			\$0.00 \$0.00		\$0.00 \$0.00	
32	ORANGE T-SHIRTS ORANGE T-SHIRTS	9XLARGE	15	DOZEN	\$78.00 \$88.00	\$1,170.00 \$1,320.00		\$0.00		\$0.00 \$0.00		1	\$0.00		\$0.00	
34	ORANGE T-SHIRTS	10XLARGE	15			\$1,320.00	1	\$0.00		\$0.00		1	\$0.00		\$0.00	
34	TOTAL FOR ALL ORANGE T-SHIRTS	TOTAL		DOZEN	\$98.00	\$117,910.00	1	\$0.00		\$0.00		1	\$0.00	ő	\$0.00	
35	ORANGE COVERALLS	LARGE	70	DOZEN	\$178.00	\$12,460.00		\$0.00		\$0.00		\$117.00			\$0.00	
36	ORANGE COVERALLS	XLARGE-3XL	1020	DOZEN	\$178.00	\$181,560.00		\$0.00		\$0.00		\$135.00)	\$0.00	
37	ORANGE COVERALLS	4XLARGE	300	DOZEN	\$192.00	\$57,600.00		\$0.00		\$0.00		\$141.00)	\$0.00	1
38	ORANGE COVERALLS	5XLARGE-7XL	450	DOZEN	\$210.00	\$94,500.00		\$0.00		\$0.00		\$144.00	\$64,800.00)	\$0.00	!
\vdash	TOTAL FOR ALL ORANGE COVERALLS	1			 	\$346,120.00	 	\$0.00	-	\$0.00		-	\$252,990.00	JI .	\$0.00	
39	YELLOW COVERALLS	LARGE	10	DOZEN	\$178.00	\$1,780.00		\$0.00	1	\$0.00		\$117.00	\$1.170.00		\$0.00	t
40	YELLOW COVERALLS	XLARGE-3XL	40	DOZEN	\$178.00	\$7,120.00		\$0.00		\$0.00		\$135.00	4.11	i l	\$0.00	
41	YELLOW COVERALLS	4XLARGE	10	DOZEN	\$192.00	\$1,920.00		\$0.00	İ	\$0.00		\$141.00			\$0.00	
42	YELLOW COVERALLS	5XLARGE-8XL	54	DOZEN	\$210.00	\$11,340.00		\$0.00		\$0.00		\$144.00	\$7,776.00		\$0.00	
	TOTAL FOR ALL YELLOW COVERALLS					\$22,160.00		\$0.00		\$0.00			\$15,756.00)	\$0.00	
43	LONG SLEEVE THERMAL TOPS	LARGE-3XL	163	DOZEN	\$33.50	\$5,460.50		\$0.00	\$31.88	\$5,196.44		-	\$0.00		\$0.00	
44	THERMAL UNDERWEAR BOTTOMS THERMAL UNDERWEAR BOTTOMS	Large-2XL	140	DOZEN	\$31.50	\$4,410.00		\$0.00	\$30.48	\$4,267.20		-	\$0.00)	\$0.00	├
45	TOTAL FOR ALL THERMAL UNDERWEAR	3XLARGE	3	DOZEN	\$35.75	\$107.25 \$4,517.25		\$0.00 \$0.00	\$33.28	\$99.84 \$4,367.04		-	\$0.00 \$0.00	0	\$0.00 \$0.00	
						·										
46	ORANGE SKULL CAPS/STOCKINGS	ONE SIZE	30	DOZEN	\$13.50	\$405.00		\$0.00	\$10.24	\$307.20			\$0.00		\$0.00	
47	MEN & WOMEN KHAKI WINTER COATS	Large-3XL	18	DOZEN	\$370.00	\$6,660.00		\$0.00		\$0.00			\$0.00	D	\$0.00	
			CDAND TOTAL			\$720 724 75		\$46,000 50		¢1E2 142 20			\$240.744.00		\$40.07E.00	
		1	GRAND TOTAL	l		\$728,724.75		\$46,802.50		\$152,143.28			\$268,746.00	J	\$49,875.00	1

ITEM NUMBER	INMATE CLOTHING DESCRIPTION	SIZE	TOTAL QUANTITY REQUIRED	UNIT OF MEASURE	EXTENDED COST
			REGUIRED		RM-TEX
1	BOOTS	Sizes 6-16	1100	PAIR	
	WHITE TUBE SOCKS	ONE SIZE	0500	D.O.TEN	440.550.00
2	WHITE TUBE SOCKS	ONE SIZE	2500	DOZEN	\$10,550.00
3	MEN'S ORANGE CANVAS STEP-IN	Size: 7-17	11540	PAIR	\$34,620.00
					10.1,000
4	V-STRAP SHOWER THONGS	Size: S,M,L,XL	6000	DOZEN	\$37,080.00
5	WOMEN'S ORANGE CANVAS STEP-IN	Size: 6-10	75	DOZEN	\$2,700.00
6	MESH LAUNDRY BAGS 30" X 40"	White	600	FACH	NO BID
7	MESH LAUNDRY BAGS 30" X 40"	Blue	600	EACH	NO BID
8	MESH LAUNDRY BAGS 30" X 40"	Brown	600	EACH	NO BID
9	MESH LAUNDRY BAGS 30" X 40"	Red	600	EACH	NO BID
10	MESH LAUNDRY BAGS 30" X 40"	Purple	600	EACH	NO BID
11	MESH LAUNDRY BAGS 30" X 40"	Orange	600	EACH	NO BID
12	MESH LAUNDRY BAGS 30" X 40"	Yellow	600	EACH	NO BID
13	MESH LAUNDRY BAGS 30" X 40"	Green	600	EACH	NO BID
	TOTAL FOR LAUNDRY BAGS				\$0.00
14	WHITE WOMEN'S BRA	Size 30-48	4400	EACH	\$7,216.00
16	WHITE WOMEN'S BRIEF	Short E.O.	200	DO3EN1	61 424 00
15	WHITE WOMEN'S BRIEF WHITE WOMEN'S BRIEF	Size: 5-9	100	DOZEN	\$1,436.00
16	TOTAL FOR ALL WOMEN'S BRIEFS	Size: 10-16	100	DOZEN	\$790.00 \$2,226.00
	TOTAL FOR ALL WOMEN'S BRILLS				\$2,220.00
17	MATRESSES 25"X75"X4'	25"X75"X4"	1500	EACH	\$46,770.00
18	SHEETS 54"X90"	54" X 90"	1050	DOZEN	\$28,245.00
19	GREY BLANKETS 60"X80"	60" X 80"	150	DOZEN	\$7,881.00
20	WHITE THERMAL BLANKET		70		\$4.893.00
		60" X 90"		DOZEN	
21	BATH TOWELS 20"X40"	20" X 40"	1000	DOZEN	\$9,900.00
22	WHITE WASH TOWELS 10"X12"	10" X 12"	1900	DOZEN	\$3,610.00
23	MEN'S ORANGE BOXER SHORTS	LARGE-XL	1500	DOZEN	\$25,350.00
24	MEN'S ORANGE BOXER SHORTS	2XLARGE-4XL	1570	DOZEN	\$31,243.00
25	MEN'S ORANGE BOXER SHORTS	5XLARGE-7XL	90	DOZEN	\$1,881.00
	TOTAL FOR ALL MEN'S BOXER SHORTS				\$58,474.00
26	ORANGE T-SHIRTS	LARGE-XL	1000	DOZEN	\$0.00
27	ORANGE T-SHIRTS	2XLARGE-3XL	1300	DOZEN	\$0.00
28	ORANGE T-SHIRTS	4XLARGE	300	DOZEN	\$0.00
29	ORANGE T-SHIRTS	5XLARGE	50	DOZEN	\$0.00
30	ORANGE T-SHIRTS	6XLARGE	25	DOZEN	\$0.00
31	ORANGE T-SHIRTS	7XLARGE	25	DOZEN	\$0.00
32	ORANGE T-SHIRTS	8XLARGE	15	DOZEN	\$0.00
33	ORANGE T-SHIRTS	9XLARGE	15	DOZEN	\$0.00
34	ORANGE T-SHIRTS	10XLARGE	15	DOZEN	\$0.00
	TOTAL FOR ALL ORANGE T-SHIRTS				\$0.00
35	ORANGE COVERALLS	LARGE	70	DOZEN	\$0.00
36	ORANGE COVERALLS ORANGE COVERALLS	XLARGE-3XL	1020	DOZEN	\$0.00
37	ORANGE COVERALLS ORANGE COVERALLS	4XLARGE	300	DOZEN	\$0.00
38	ORANGE COVERALLS	5XLARGE-7XL	450	DOZEN	\$0.00
30	TOTAL FOR ALL ORANGE COVERALLS	22 INGE 7/K	.50	DOZLIN	\$0.00
	VELOUI COMPANIE	,			
39	YELLOW COVERALLS	LARGE	10	DOZEN	\$0.00
40	YELLOW COVERALLS YELLOW COVERALLS	XLARGE-3XL 4XLARGE	40 10	DOZEN	\$0.00
41 42	YELLOW COVERALLS YELLOW COVERALLS	5XLARGE-8XL	10 54	DOZEN DOZEN	\$0.00 \$0.00
42	TOTAL FOR ALL YELLOW COVERALLS	DALANGE-OAL	J4	DOZEN	\$0.00
43	LONG SLEEVE THERMAL TOPS	LARGE-3XL	163	DOZEN	\$0.00
44	THERMAL UNDERWEAR BOTTOMS	Large-2XL	140	DOZEN	\$0.00
45	THERMAL UNDERWEAR BOTTOMS	3XLARGE	3	DOZEN	\$0.00
	TOTAL FOR ALL THERMAL UNDERWEAR	-			\$0.00
46	ORANGE SKULL CAPS/STOCKINGS	ONE SIZE	30	DOZEN	\$0.00
47	MEN & WOMEN KHAKI WINTER COATS	Large-3XL	18	DOZEN	\$0.00
			GRAND TOTAL		\$254,165.00
1			GRAIND IOTAL	1	D.C01,4C≥¢

ITEM NUMBER	INMATE CLOTHING DESCRIPTION	SIZE	TOTAL QUANTITY REQUIRED	UNIT OF MEASURE	COST PER UNIT OF MEASURE	EXTENDED COST	COST PER UNIT OF MEASURE	EXTENDED COST	COST PER UNIT OF MEASURE	EXTENDED COST	COST PER UNIT OF MEASURE	EXTENDED COST	COST PER UNIT OF MEASURE	EXIENDED COST
1	BOOTS	Sizes 6-16	1100	PAIR	\$16.95	STORE \$18,645.00	THOM \$14.75	\$16,225.00	KAR 9 \$16.50	WING \$18,150.00	UNIFO \$22.15	RMS MFG \$24,365.00	UNIFO	ORM ONE
2	WHITE TUBE SOCKS	ONE SIZE	2500	DOZEN	\$4.27	\$10,675.00	\$5.60	\$14,000.00		\$0.00	NO			
3	MEN'S ORANGE CANVAS STEP-IN	Size: 7-17	11540	PAIR	\$2.62	\$30,234.80	\$2.69	\$31,042.60		\$0.00	\$3.98	\$45,929.20		\$0.00
	V-STRAP SHOWER THONGS						7.5.0							
4		Size: S,M,L,XL	6000	DOZEN	\$7.18	\$43,080.00		\$0.00)	\$0.00	\$11.76	\$70,560.00		\$0.00
5	WOMEN'S ORANGE CANVAS STEP-IN	Size: 6-10	75	DOZEN	\$31.44	\$2,358.00	\$32.28	\$2,421.00		\$0.00	\$47.76	\$3,582.00		\$0.00
6	MESH LAUNDRY BAGS 30" X 40"	White	600	EACH		NO BID		NO BID		NO BID		NO BID	\$4.75	\$2,850.00
7 8	MESH LAUNDRY BAGS 30" X 40" MESH LAUNDRY BAGS 30" X 40"	Blue Brown	600 600	EACH EACH		NO BID		NO BID		NO BID		NO BID	\$4.75 \$4.75	
9	MESH LAUNDRY BAGS 30" X 40"	Red	600	EACH		NO BID		NO BID		NO BID		NO BID	\$4.75	
10	MESH LAUNDRY BAGS 30" X 40"	Purple	600	EACH		NO BID		NO BID		NO BID		NO BID	\$4.75	\$2,850.00
11	MESH LAUNDRY BAGS 30" X 40"	Orange	600	EACH		NO BID		NO BID		NO BID		NO BID	\$4.75	
12	MESH LAUNDRY BAGS 30" X 40" MESH LAUNDRY BAGS 30" X 40"	Yellow	600	EACH		NO BID		NO BID		NO BID		NO BID	\$4.75 \$4.75	
13	TOTAL FOR LAUNDRY BAGS	Green	600	EACH		\$0.00		\$0.00		\$0.00		\$0.00	\$4.75	\$2,800.00
	TO METON ENGINEER BYTCO					\$0.00		\$0.00		\$0.00		\$0.00		\$22,000.00
14	WHITE WOMEN'S BRA	Size 30-48	4400	EACH	\$2.41	\$10,604.00	NO				NO		\$3.95	\$17,380.00
15	WHITE WOMEN'S BRIEF	Size: 5-9	200	DOZEN	\$8.96	\$1,792.00	NO				\$9.50	\$1,900.00	\$24.00	
16	WHITE WOMEN'S BRIEF TOTAL FOR ALL WOMEN'S BRIEFS	Size: 10-16	100	DOZEN	\$10.64	\$1,064.00 \$2,856.00	NO	\$0.00		\$0.00	\$11.40	\$1,140.00 \$3,040.00	\$24.00	\$2,400.00 \$7,200.00
17	MATRESSES 25"X75"X4'	25"X75"X4"	1500	EACH		\$0.00		\$0.00)	\$0.00		\$0.00		\$0.00
18	SHEETS 54"X90"	54" X 90"	1050	DOZEN		\$0.00		\$0.00		\$0.00		\$0.00	\$71.40	\$74,970.00
	GREY BLANKETS 60"X80"												\$71.40	
19		60" X 80"	150	DOZEN		\$0.00		\$0.00)	\$0.00		\$0.00		\$0.00
20	WHITE THERMAL BLANKET	60" X 90"	70	DOZEN		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
21	BATH TOWELS 20"X40"	20" X 40"	1000	DOZEN		\$0.00		\$0.00)	\$0.00		\$0.00	\$36.00	\$36,000.00
22	WHITE WASH TOWELS 10"X12"	10" X 12"	1900	DOZEN		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
23 24	MEN'S ORANGE BOXER SHORTS MEN'S ORANGE BOXER SHORTS	LARGE-XL 2XI ARGE-4XI	1500 1570	DOZEN DOZEN	\$13.20 \$14.98	\$19,800.00 \$23,518.60	NO NO				NO NO		\$48.00 \$48.00	\$72,000.00 \$75,360.00
25	MEN'S ORANGE BOXER SHORTS	5XLARGE-7XL	90	DOZEN	\$17.80	\$1,602.00	NO				NO		\$48.00	
2.0	TOTAL FOR ALL MEN'S BOXER SHORTS		,	DOLLIV	\$17.00	\$44,920.60		\$0.00		\$0.00		\$0.00	\$ 10.00	\$151,680.00
2/	ORANGE T-SHIRTS	LARGE-XL	1000	DO7FNI	601.75	621 750 00	#2/ F0	#2/ F00 00		*0.00	¢21 FF	#24 FF0 00	\$54.00	£5 4 000 00
26 27	ORANGE T-SHIRTS	2XI ARGE-XL	1300	DOZEN DOZEN	\$21.75 \$28.40	\$21,750.00 \$36,920.00	\$26.50 \$32.95	\$26,500.00 \$42,835.00		\$0.00 \$0.00	\$31.55 \$62.79	\$31,550.00 \$81,627.00	\$54.00 \$54.00	\$54,000.00 \$70,200.00
28	ORANGE T-SHIRTS	4XLARGE	300	DOZEN	\$30.75	\$9,225.00	\$35.95	\$10,785.00		\$0.00	\$62.79		\$54.00	
29	ORANGE T-SHIRTS	5XLARGE	50	DOZEN	\$32.75	\$1,637.50	\$36.95	\$1,847.50		\$0.00	\$62.79	\$3,139.50	\$54.00	\$2,700.00
30	ORANGE T-SHIRTS ORANGE T-SHIRTS	6XLARGE 7XLARGE	25 25	DOZEN	\$35.75	\$893.75	\$37.95	\$948.75		\$0.00	\$66.99	\$1,674.75	\$54.00	
31 32	ORANGE T-SHIRTS	8XLARGE	15	DOZEN DOZEN	\$35.75 \$35.75	\$893.75 \$536.25	\$39.95 \$41.95	\$998.75 \$629.25		\$0.00 \$0.00	NO NO		\$54.00 \$54.00	
33	ORANGE T-SHIRTS	9XLARGE	15	DOZEN	\$74.00	\$1,110.00	\$43.95	\$659.25		\$0.00	NO		\$54.00	
34	ORANGE T-SHIRTS	10XLARGE	15	DOZEN	\$78.00	\$1,170.00	\$45.95	\$689.25		\$0.00	NO		\$54.00	
	TOTAL FOR ALL ORANGE T-SHIRTS					\$74,136.25		\$85,892.75		\$0.00		\$136,828.25		\$148,230.00
35	ORANGE COVERALLS	LARGE	70	DOZEN		\$0.00		\$0.00		\$0.00	\$138.70	\$9,709.00	\$199.44	
36 37	ORANGE COVERALLS ORANGE COVERALLS	XLARGE-3XL 4XLARGE	1020 300	DOZEN DOZEN	 	\$0.00 \$0.00		\$0.00 \$0.00	1	\$0.00 \$0.00	\$138.70 \$145.65	\$141,474.00 \$43,695.00	\$199.44 \$199.44	
38	ORANGE COVERALLS ORANGE COVERALLS	5XLARGE-7XL	450	DOZEN		\$0.00		\$0.00		\$0.00	\$145.00	\$69,750.00	\$199.44	
30	TOTAL FOR ALL ORANGE COVERALLS			DOLLIN	1 1	\$0.00		\$0.00		\$0.00	\$155.00	\$264,628.00	\$177.99	\$366,969.60
39	YELLOW COVERALLS YELLOW COVERALLS	LARGE	10 40	DOZEN	-	\$0.00		\$0.00		\$0.00	\$148.05	\$1,480.50	\$223.44	
40 41	YELLOW COVERALLS YELLOW COVERALLS	XLARGE-3XL 4XLARGE	10	DOZEN DOZEN	1	\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00	\$148.05 \$155.45	\$5,922.00 \$1,554.50	\$223.44 \$223.44	
42	YELLOW COVERALLS	5XLARGE-8XL	54	DOZEN	1	\$0.00		\$0.00		\$0.00	\$165.00	\$8,910.00	\$223.44	
	TOTAL FOR ALL YELLOW COVERALLS					\$0.00		\$0.00		\$0.00		\$17,867.00		\$25,472.16
43	LONG SLEEVE THERMAL TOPS	LARGE-3XL	163	DOZEN		\$0.00		\$0.00		\$0.00	NO			
44	THERMAL UNDERWEAR BOTTOMS	Large-2XL	140	DOZEN		\$0.00		\$0.00		\$0.00	NO			
44	THERMAL UNDERWEAR BOTTOMS	3XLARGE	3	DOZEN	 	\$0.00		\$0.00		\$0.00	NO			+
	TOTAL FOR ALL THERMAL UNDERWEAR		-			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
46	ORANGE SKULL CAPS/STOCKINGS	ONE SIZE	30	DOZEN		\$0.00		\$0.00		\$0.00	\$11.50	\$345.00		\$0.00
47	MEN & WOMEN KHAKI WINTER COATS	Large-3XL	18	DOZEN		\$0.00		\$0.00		\$0.00	\$195.00	\$3,510.00		\$0.00
			GRAND TOTAL			\$237,509.65		\$149,581.35		\$18,150.00		\$570,654.45		\$850,701.76

ITEM NUMBER	INMATE CLOTHING DESCRIPTION	SIZE	TOTAL QUANTITY REQUIRED	UNIT OF MEASURE	COST PER UNIT OF MEASURE	EXTENDED COST	COST PER UNIT OF MEASURE	EXTENDED COST	COST PER UNIT OF MEASURE	EXTENDED COST	COST PER UNIT OF MEASURE	EXTENDED COST	COST PER UNIT OF MEASURE	EXTENDED COST
1	BOOTS	Sizes 6-16	1100	PAIR	\$28.01	ICS \$30,811.00	JUST	IN TREND	GO <i>A</i> \$16.74		BOB \$17.60	\$19,360.00	A	CME
2	WHITE TUBE SOCKS	ONE SIZE	2500	DOZEN	\$6.10	\$15,250.00		\$0.00)	\$0.00)	\$0.00	\$4.14	\$10,350.00
3	MEN'S ORANGE CANVAS STEP-IN	Size: 7-17	11540	PAIR	\$4.10	\$47,314.00		\$0.00	\$2.89	\$33,350.60	\$2.65	\$30,581.00	\$3.14	\$36,235.60
4	V-STRAP SHOWER THONGS	Size: S,M,L,XL	6000	DOZEN	\$9.48	\$56,880.00		\$0.00)	\$0.00	\$5.15	\$30,900.00	\$9.00	\$54,000.00
5	WOMEN'S ORANGE CANVAS STEP-IN	Size: 6-10	75	DOZEN	\$49.20	\$3,690.00		\$0.00	\$34.73	\$2,604.75	\$43.80	\$3,285.00	\$37.68	\$2,826.00
6	MESH LAUNDRY BAGS 30" X 40"	White	600	EACH	\$6.40	\$3.840.00		\$0.00	1	\$0.00)	\$0.00		\$0.00
7	MESH LAUNDRY BAGS 30" X 40"	Blue	600	EACH	\$6.40	\$3,840.00		\$0.00)	\$0.00)	\$0.00		\$0.00
8	MESH LAUNDRY BAGS 30" X 40" MESH LAUNDRY BAGS 30" X 40"	Brown Red	600	EACH EACH	\$6.40 \$6.40			\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00
10	MESH LAUNDRY BAGS 30" X 40"	Purple	600	EACH	\$6.40			\$0.00		\$0.00		\$0.00		\$0.00
11	MESH LAUNDRY BAGS 30" X 40"	Orange	600	EACH	\$6.40			\$0.00		\$0.00		\$0.00		\$0.00
12	MESH LAUNDRY BAGS 30" X 40"	Yellow	600	EACH	\$6.40			\$0.00)	\$0.00)	\$0.00		\$0.00
13	MESH LAUNDRY BAGS 30" X 40" TOTAL FOR LAUNDRY BAGS	Green	600	EACH	\$6.40	\$3,840.00 \$30,720.00		\$0.00 \$0.0 0)	\$0.00 \$0.0 0)	\$0.00 \$0.00	1	\$0.00 \$0.00
	TOTAL FOR ENGINERY BAGS					\$30,720.00		\$0.00	'	\$0.00	4	\$0.00		\$0.00
14	WHITE WOMEN'S BRA	Size 30-48	4400	EACH	\$2.78	\$12,232.00		\$0.00)	\$0.00)	\$0.00	\$2.00	\$8,800.00
15	WHITE WOMEN'S BRIEF	Size: 5-9	200	DOZEN	\$10.72	\$2,144.00		\$0.00)	\$0.00)	\$0.00	\$10.00	\$2,000.00
16	WHITE WOMEN'S BRIEF TOTAL FOR ALL WOMEN'S BRIEFS	Size: 10-16	100	DOZEN	\$12.30	\$1,230.00 \$3,374.00		\$0.00 \$0.00	1	\$0.00 \$0.0 0)	\$0.00 \$0.00	\$10.00	\$1,000.00 \$3,000.00
17	MATRESSES 25"X75"X4'	25"X75"X4"	1500	EACH	\$48.40	\$72,600.00		\$0.00		\$0.00)	\$0.00	\$125.00	\$187,500.00
18	SHEETS 54"X90"	54" X 90"	1050	DOZEN	\$31.74	\$33,327.00		\$0.00		\$0.00		\$0.00	\$29.00	\$30,450.00
	GREY BLANKETS 60"X80"								'		,			
19	WHITE THERMAL BLANKET	60" X 80"	150	DOZEN	\$87.84	\$13,176.00		\$0.00)	\$0.00)	\$0.00	\$65.40	\$9,810.00
20		60" X 90"	70	DOZEN	\$85.56	\$5,989.20		\$0.00)	\$0.00	\$60.00 BID \$5 EA.	\$4,200.00	\$63.00	\$4,410.00
21	BATH TOWELS 20"X40"	20" X 40"	1000	DOZEN	\$12.71	\$12,710.00		\$0.00)	\$0.00)	\$0.00	\$15.00	\$15,000.00
22	WHITE WASH TOWELS 10"X12"	10" X 12"	1900	DOZEN	\$1.65	\$3,135.00		\$0.00)	\$0.00)	\$0.00	\$3.25	\$6,175.00
23 24	MEN'S ORANGE BOXER SHORTS MEN'S ORANGE BOXER SHORTS	LARGE-XL 2XLARGE-4XL	1500 1570	DOZEN DOZEN	\$17.61 \$19.72	\$26,415.00 \$30,960.40	\$16.00 \$18.00	\$24,000.00 \$28,260.00	1	\$0.00 \$0.00)	\$0.00 \$0.00	\$14.50 \$15.50	\$21,750.00 \$24,335.00
25	MEN'S ORANGE BOXER SHORTS	5XLARGE-7XL	90	DOZEN	\$25.30	\$2,277.00	\$21.00	\$1,890.00		\$0.00)	\$0.00	\$17.50	\$1,575.00
	TOTAL FOR ALL MEN'S BOXER SHORTS					\$59,652.40		\$54,150.00	1	\$0.00)	\$0.00		\$47,660.00
26	ORANGE T-SHIRTS	LARGE-XL	1000	DOZEN	\$43.62	\$43,620.00		\$0.00	1	\$0.00)	\$0.00	1	\$0.00
27	ORANGE T-SHIRTS	2XLARGE-3XL	1300	DOZEN	\$49.34	\$64,142.00		\$0.00		\$0.00)	\$0.00		\$0.00
28 29	ORANGE T-SHIRTS ORANGE T-SHIRTS	4XLARGE 5XLARGE	300 50	DOZEN DOZEN	\$54.70 \$57.32			\$0.00 \$0.00)	\$0.00 \$0.00	0	\$0.00 \$0.00		\$0.00 \$0.00
30	ORANGE T-SHIRTS	6XLARGE	25	DOZEN	\$60.12	\$1,503.00		\$0.00	Ó	\$0.00	Ó	\$0.00		\$0.00
31	ORANGE T-SHIRTS	7XLARGE	25	DOZEN	\$67.92	\$1,698.00		\$0.00)	\$0.00)	\$0.00		\$0.00
32	ORANGE T-SHIRTS ORANGE T-SHIRTS	9XLARGE 9XLARGE	15 15	DOZEN DOZEN	\$74.48 \$81.03			\$0.00 \$0.00)	\$0.00 \$0.00)	\$0.00 \$0.00		\$0.00 \$0.00
34	ORANGE T-SHIRTS	10XLARGE	15	DOZEN	\$87.58			\$0.00		\$0.00	Ó	\$0.00		\$0.00
	TOTAL FOR ALL ORANGE T-SHIRTS					\$133,885.35		\$0.00		\$0.00	5	\$0.00		\$0.00
35	ORANGE COVERALLS	LARGE	70	DOZEN	\$168.12	\$11,768.40	\$129.00	\$9,030.00		\$0.00	\$125.40	\$8,778.00	\$135.00	\$9,450.00
36 37	ORANGE COVERALLS ORANGE COVERALLS	XLARGE-3XL 4XLARGE	1020 300	DOZEN DOZEN	\$192.60 \$201.84		\$139.00 \$149.00	\$141,780.00 \$44,700.00		\$0.00 \$0.00	\$125.40 \$132.00	\$127,908.00 \$39,600.00	\$135.00 \$135.00	\$137,700.00 \$40,500.00
38	ORANGE COVERALLS	5XLARGE-7XL	450	DOZEN	\$201.84	\$107,352.00	\$149.00 \$159.00	\$71,550.00		\$0.00	\$132.00	\$65,880.00	\$135.00	\$60,750.00
	TOTAL FOR ALL ORANGE COVERALLS			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	+200.00	\$376,124.40	*********	\$267,060.00		\$0.00)	\$242,166.00		\$248,400.00
20	YELLOW COVERALLS	LARGE	10	DOTEN	6140 10	¢1 401 00	¢1E4 00	61 540 00		¢0.00	#120.20	¢1 202 00	\$147.00	¢1 470 00
39 40	YELLOW COVERALLS YELLOW COVERALLS	XLARGE-3XL	40	DOZEN DOZEN	\$168.12 \$192.60		\$156.00 \$192.00	\$1,560.00 \$7,680.00	1	\$0.00 \$0.00	\$139.20 \$139.20	\$1,392.00 \$5,568.00	\$147.00	\$1,470.00 \$5,880.00
41	YELLOW COVERALLS	4XLARGE	10	DOZEN	\$201.84	\$2,018.40	\$204.00	\$2,040.00)	\$0.00	\$144.00	\$1,440.00	\$147.00	\$1,470.00
42	YELLOW COVERALLS TOTAL FOR ALL YELLOW COVERALLS	5XLARGE-8XL	54	DOZEN	\$238.56	\$12,882.24 \$24,285.84	\$216.00	\$11,664.00 \$22,944.00		\$0.00 \$0.00	\$165.00	\$8,910.00 \$17,310.00	\$147.00	\$7,938.00 \$16,758.00
43	LONG SLEEVE THERMAL TOPS	LARGE-3XL	163	DOZEN	\$39.34	\$6,412.42		\$22,944.00		\$0.00		\$17,310.00	\$28.00	\$4,564.00
43	THERMAL UNDERWEAR BOTTOMS								,		,	\$0.00	\$28.00	
44	THERMAL UNDERWEAR BOTTOMS THERMAL UNDERWEAR BOTTOMS	Large-2XL 3XLARGE	140 3	DOZEN DOZEN	\$36.48 \$39.34	\$5,107.20 \$118.02		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00	\$28.00 \$28.00	\$3,920.00 \$84.00
	TOTAL FOR ALL THERMAL UNDERWEAR			_ JELIT	\$57.54	\$5,225.22		\$0.00	1	\$0.00)	\$0.00		\$4,004.00
46	ORANGE SKULL CAPS/STOCKINGS	ONE SIZE	30	DOZEN	\$12.06	\$361.80		\$0.00)	\$0.00	\$11.20	\$336.00		\$0.00
47	MEN & WOMEN KHAKI WINTER COATS	Large-3XL	18	DOZEN	\$448.32	\$8,069.76		\$0.00		\$0.00)	\$0.00		\$0.00
			GRAND TOTAL			\$955,225.39		\$344,154.00		\$54,369.35		\$348,138.00		\$689,942.60

	BID RESULTS		
,	AB2013-66 INSTALLATION OF TRAFFIC SIGNAL U	INDERGROUND CONTROL DEVICES	
	JANUARY 10, 20	014	
AWARD TWO YEARS, PREQUAL NJDOT CLASS CODE KEY 7, PERFORMANCE AND L&M AND MAINTENANCE BOND 5%, TWO YEARS REQUIRED			
NUMBER OF BIDDERS	3		
NAME OF BIDDER	CARR & DUFF INC.	ORCHARD HOLDINGS LLC	TECHNA-PRO ELECTRIC LLC
ADDRESS	2100 BYBERRY ROAD	1913 ATLANTIC AVE, SUITE 193	100 PIKE RD. BLDG. B
CITY, STATE, ZIP	HUNTINGDON VALLEY, PA 19006	MANASQUAN, NJ 08736	MT. LAUREL, NJ 08054
CONTACT	ROBERT W. DUFF	FREDERICK J. KURFEHS	MICHAEL W. CERULA
TELEPHONE	215 672 4200	732 560 8200	856 802 9940
FAX	215 675 9800	732 560 8030	856 802 9944
WEBSITE OR E-MAIL	BRIAN@CARRDUFF.COM	FRED@OHELECTRICLLC.COM	MCERULA@TECHNA-PRO.COM
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES
BID BOND AND CONSENT OF SURETY	WESTERN SURETY COMPANY 10% NOT TO EXCEED 20K, DANIEL P. DUNIGAN AIF WITH	NGM INSURANCE COMPANY 10% NOT 20K; LISA NOSAL AIF WITH POA	ALLEGNENY CASUALTY COMPANY 10% OF BID, GREGORY J. RISNYCHOK
BUSINESS REGISTRATION	OK	OK	OK
PUBLIC WORKS CONTRACTOR REG AND ELECTRICAL LICENSE	43530 EXPIRES 5/6/2014; ELECTRICAL PERMIT INCLUDED	648750 EXPIRES 12/29/14; ELECTRICAL PERMIT INCLUDED	33794 EXPIRES 4/25/15; ELECTRICAL PERMIT INCLUDED
NJ DOT PREQUALIFICATION 7	YES	YES	YES
DEBARRED	NO	NO	NO
IRAN CERTIFICATION	OK	OK	OK
REFERENCES	INCLUDED; GEORGE TO REVIEW	INCLUDED; GEORGE TO REVIEW	INCLUDED; GEORGE TO REVIEW
INSURANCE REQUIRED IF AWARDED			
AA201 REQUIRED IF AWARDED			
EXHIBIT B	OK	OK	REQUIRED IF AWARDED
STOCKHOLDER DISCLOSURE	OK	OK	OK
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EQUIPMENT CERT	OK	OK	OK
NON-COLLUSION AFFIDAVIT	OK	OK	OK
TOTAL	\$ 739,300.00	\$ 749,750.00	\$ 778,050.00
EXCEPTIONS	NONE	NONE STATED	NONE
FATAL FLAW	NO	NO	NO

ITEM NUMBER	TRAFFIC SIGNAL DEVICES AB2013-66	UNITS	QUANTITY 0 UP TO	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
				CARR 8	& DUFF	ORCHARD HOLDINGS		TECHN	IA-PRO
1	Foundation, Type SPF	Unit	5	1,520.00	7,600.00	950.00	4,750.00	1,500.00	7,500.00
2	Foundation, Type SFT	Unit	10	2,165.00	21,650.00	1,200.00	12,000.00	2,650.00	26,500.00
3	Foundation, Type SFK	Unit	10	2,600.00	26,000.00	1,250.00	12,500.00	3,000.00	30,000.00
4	Foundation, Type STF	Unit	10	4,600.00	46,000.00	4,750.00	47,500.00	6,000.00	60,000.00
5	Junction Box Foundation	Unit	5	2,900.00	14,500.00	1,950.00	9,750.00	1,600.00	8,000.00
6	17" x 30" Junction Box	Unit	20	850.00	17,000.00	1,450.00	29,000.00	1,500.00	30,000.00
7	Foundation, Type P-MC	Unit	5	2,450.00	12,250.00	2,500.00	12,500.00	3,500.00	17,500.00
8	1-1/2" Rigid Metallic Conduit	LF	2500	28.00	70,000.00	40.00	100,000.00	25.00	62,500.00
9	2" Rigid Metallic Conduit	LF	500	36.00	18,000.00	55.00	27,500.00	45.00	22,500.00
10	3" Rigid Metallic Conduit	LF	2500	60.00	150,000.00	74.50	186,250.00	65.00	162,500.00
11	Driver Speed Feedback Signs-Solar Powered	Unit	14	16,215.00	227,010.00	11,000.00	154,000.00	11,225.00	157,150.00
12	Rectangular Rapid Flashing Beacon Assembly-Solar Powered	Unit	14	9,235.00	129,290.00	11,000.00	154,000.00	13,850.00	193,900.00
	GRAND TOTAL				739,300.00		749,750.00		778,050.00